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• a capillary fluidics application aboard spacecraft 

• the capillary rise problem 

• ‘state of the art’ assessment of the pressure term 

• a five minute lecture on scaling the problem 
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Ignoring g, choose scales for elongating flows 
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Desire… 

𝐿 ≪ 𝑅… 𝑡 ≪ 𝑡𝑠 
𝐿~𝑅… 𝑡~𝑡𝑠 

𝐿 ≫ 𝑅… 𝑡 ≫ 𝑡𝑠 

Seek 2-time Scaling method 
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Configurations 

No-pinning Inner-pinning Outer-pinning 









113 equilibrium surfaces  

 SE-FIT©* Parameter Sweep 

Function 

* Surface Evolver - Fluid Interface Tool (SE-

FIT.com) 

Liquid Drops in the Open-Star Vane 

Array 
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Hybrid Boundary Condition Method 
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Solution: No-Pinning 
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Minimal Surface (Scherk) with 4 Vanes 

Thank you! 


